# Vertical Division with a Helper Grid Name:
Solve each problem. Answers

1) 2) 3)

995334 9319006 467820 -

4) 5) 6)

7414292 968448 3016420 8.

7) 8) 9)

559410 4316741 7818502

1-9 |89]|78]67[56]44[33[22[11] 0 |
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Vertical Division with aHelper Grid Name: Answer Key
Solve each problem. Answers
1) 53r87 2) 96178 3) 170 . 5387
99[5334 93[9006 467820
0 0 0 > 96178
53 90 78
0 0 46 3 170
533 900 322 . 5g
495 837 322
384 636 00 . 83
297 558 0
87 78 0 6. 214
;. 171r5
4) 58 5) 88 6) 214
74[4292 96(8448 30(6420 s 156r33
0 0 0
42 84 64 J 109
0 0 60
429 844 42
370 768 30
592 768 120
592 768 120
0 0 0
7) 17115 8) 156133 9) 109
55(9410 43[6741 788502
0 0 0
94 67 85
55 43 78
391 244 70
385 215 0
60 291 702
55 258 702
5 33 0
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